Data sheet

valid from: 6/23/21

+GF+

150 - Black clamp saddles with 0-ring gasket and galvanized bolts and nuts (PN12,5)

B = No. of bolts

M = bolt type

suitable for PE and PVC pipes
material: PP

gasket: NBR O-ring

female thread: IS0 7 (parallel)

Rp PN d B M Code SP Weight H1 L H L1 d1
(inch) (bar) (mm) (kg) (mm) (mm) (mm) (mm) (mm)
% 125 20 2 M8X30 158001590 1 0114 26 46 59 77 12
dl % 125 25 2 M8X30 158001591 1 0098 15 49 58 79 13
% 125 25 2 M8X30 158001592 1 0104 15 49 58 79 13
% 125 32 2 M8X30 158001593 1 0.094 20 49 62 79 14
% 125 32 2 M8X30 158001594 1 0097 20 49 62 79 14
1 125 32 2 M8X30 158001595 1 0.142 20 62 70 87 14
% 125 40 2 M8X40 158001596 1 0124 20 62 71 86 21
% 125 40 2 M8X40 158001597 1 0129 20 62 71 86 21
1 125 40 2 M8X40 158001598 1 0130 19 62 70 86 21
% 125 50 2 M8X40 158001599 1 0137 20 62 82 86 21
e N N L % 125 50 2 M8X40 158001 600 1 0139 20 62 82 86 21
1 125 50 2 MB8X40 158001 601 1 0141 20 62 82 86 21
1% 125 50 2 M8X40 158001 602 1 0140 20 62 82 86 21
% 125 63 4 MB8X40 158001 605 1 0201 21 62 96 101 18
% 125 63 4 MB8X40 158001606 1 0215 21 62 96 101 24
1 125 63 4 M8X40 158001607 1 0217 21 62 96 101 31
1% 125 63 4 M8X40 158001609 1 0223 21 62 96 101 31
1% 125 63 4 M8X40 158001608 1 0221 21 62 96 101 31
% 125 75 4 M8X70 158001610 1 0355 14 79 102 123 16
% 125 75 4 M8X70 158001 611 1 0345 16 79 104 123 21
1125 75 4 M8X70 158001612 1 0360 19 79 107 123 27
1% 125 75 4 M8X70 158001614 1 0363 21 79 109 123 35
1% 125 75 4 M8X70 158001613 1 0365 21 79 109 123 42
2 125 75 4 M8X70 158001615 1 0370 24 79 112 123 53
% 125 90 4 M8X70 158001616 1 0398 14 87 116 138 16
% 125 90 4 MB8X70 158001617 1 0397 16 87 118 138 21
1 125 90 4 MB8X70 158001618 1 039 19 87 121 138 27
1% 125 90 4 M8X70 158001620 1 0413 21 87 123 138 35
1% 125 90 4 M8X70 158001619 1 0413 21 87 123 138 42
2 125 90 4 M8X70 158001621 1 0420 24 87 126 138 53
% 125 110 4 M8X50 158001622 1 0460 23 99 150 152 15
% 125 110 4 M8X50 158001623 1 0447 23 99 150 152 20
1 125 110 4 M8X50 158001624 1 0.443 23 99 150 152 26
1% 125 110 4 M8X50 158001626 1 0435 23 99 150 152 35
1% 125 110 4 M8X50 158001 625 1 0445 23 99 150 152 41
2 125 110 4 M8X50 158 001 627 1 0465 23 99 150 152 51

The technical data are not binding. They neither constitute expressly warranted characteristics nor guaranteed properties nor a guar-

anteed durability. They are subject to modification. Our General Terms of Sale apply.

Georg Fischer Piping Systems Ltd, Postfach, CH-8201 Schaffhausen/Switzerland
Phone +41 -(0)52-631 1111
e-mail: info.ps@georgfischer.com

Internet: http://www.gfps.com

Page 1 of 1



